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I- Listening Comprehension ( 8 marks) : 

1- Tick ( √) the right answer (1mark) :  
The passage is about                          a) land and noise pollution           ........... 
                                                          b) air and land pollution               ........... 
                                                          c) water , land and air pollution   ........... 
  
2- Write “true” or “false” (2marks) : 

a) People are indifferent to the rubbish near their houses          ......................... 
b) Our environment is safe from pollution                                   ............................. 
c) Because factories emit out gases , people may die                  ............................ 
d) Ships cause pollution in the land                                             ............................ 

3- Complete the sentences A and B with either “as a result” , “because” or “that’s why” (1mark) : 
A) ....................................................factory gases are toxic , people may die .  
B) Factory gases are toxic .  ............................................ , people may die .   

 
4 – find synonyms in the passage to (1.5marks) :  
Garbage(n) = ……………………………….. 
poisonous (adj) = ………………………………… 
to dump petrol = to .................................petrol 
 
7- Circle the right spelling of the word (1.5marks ) : 
Pollution seems to ( damage -  damige  - damidge)  our lives .  People always complain about the ( rabbish -  
rubbish -  rabish)  near their houses and refuse to (sey – say  - sei )  that they play a part in that .   
 
8 – Write similar (S) or different (D)  (1mark) : 
Care - gases  : ( ………….. )  
Protect  - world  : ( …………… ) 
 
 
 
 
II-Language  ( 12 marks) : 

Task 1 : fill in the blanks with words from the box (3.5marks) :  
 give up  –  problems  –  harmful  -  in – (non-smokers)  –  that’s why  -  lung   

  
Smoking is a cause of air pollution . Smoking is ...................................... to our health . It causes breathing ………………………. 
and serious diseases like ………………… cancer, heart diseases and irritates the eyes and throats of smokers and 
………………………………. alike .  ………………………. , smoking is prohibited ……….. public places . 
Heavy smokers are responsible for damaging the health of non-smokers. They may even light a second cigarette 
before finishing the first one . It is impossible for them to …………………….................. this habit especially when they 
grow older .  
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Task 2 : Put the words in parentheses  in the right tense or form (3marks) :  

                                                                                           
Last week, our school organised a campaign to collect rubbish around the school . “ we (to want ) .............................. 
to clean  our school  from the waste scattered everywhere in the school  .   I brought many plastic bins for this 
reason ”,  (to say) ……………………… the headmaster. 
The campaign (begin)………………………… at 9:00 in the morning . There (to be) …………………… many teachers, many 
students and parents who accepted this idea and (sharing) ........................................... the responsibility with us . We 
(will have to ) ................................................ stay till the afternoon  to finish our job  .   
 

Task 3 : Circle the right option (3.5marks) :                          
 
I think that violence at school is harmful . Pupils always leave their classrooms in a hurry and don’t stop pushing 
each other and impolitely mock each other . They don’t ( know – throw – spill )  that friends will get embarrassed 
and will hate not only friends but also the school .  
(Because - As a result – But) , teachers must be strict with pupils who don’t behave correctly and punish them . 
Pupils mustn’t break (the roles – the exams - the rules ) of the school and (don’t - mustn’t – must) cause 
hazards to friends .  
On my part , I will have to be (obey – disobey – obedient )  , to treat my friends equally and to work with them as 
close friends in the future . I also (intend to – will - am thinking of) writing the school rules on the walls of each 
classroom with the help of friends  so that pupils always remember them and (succeed - give up – fail ) the habit 
of being violent .  
 
 
Task4 : Match parts in “A” with parts in “B” to get meaningful sentences (2marks) :  
 

A                                         B 
 

Answer 
 

1- Because towns are crowded with cars ,  

2- Factories also cause air pollution by 

3- The gases in the atmosphere are toxic . 

4- These gases may result in 

 

a- releasing risky gases . 
 
b-  bad breath for people or the death of people 
even . 
 
c- That’s why , we must plant trees near factories 
or put factories away from people 
 
d- the air is polluted . 
 
 

 
 1 - .......... 
 
 2 - ........... 
 
  3 - .......... 
 
  4 - .......... 
 
 
 
 

 
 
 
 

                                                                           
 



 
 




